
Corrections

On Page 351:

f(z|y,θ) = f(z|θ)

=
n∏

i=m+1

f(zi|θ) =
n∏

i=m+1

1
σφ( zi−µ

σ )

φ( bi−µ
σ )− φ(ai−µ

σ )
, (ai ≤ zi ≤ bi), (4)

should read

f(z|y,θ) = f(z|θ)

=
n∏

i=m+1

f(zi|θ) =
n∏

i=m+1

1
σφ( zi−µ

σ )

Φ( bi−µ
σ )− Φ(ai−µ

σ )
, (ai ≤ zi ≤ bi), (4)

On Page 352:

S
(s)
1 =

n∑
i=m+1

∫ bi

ai

zi f(zi|θ(s))dzi

= (n−m)µ(s) − σ(s)
n∑

i=m+1

φ( bi−µ(s)

σ(s) )− φ(ai−µ(s)

σ(s) )

φ( bi−µ(s)

σ(s) )− φ(ai−µ(s)

σ(s) )
,

S
(s)
2 =

n∑
i=m+1

∫ bi

ai

z2
i f(zi|θ(s))dzi

= (n−m)
{

(µ(s))2 + σ2(s)
}

− σ(s)
n∑

i=m+1

(µ(s) + bi)φ( bi−µ(s)

σ(s) )− (µ(s) + ai)φ(ai−µ(s)

σ(s) )

φ( bi−µ(s)

σ(s) )− φ(ai−µ(s)

σ(s) )
.

should read

S
(s)
1 =

n∑
i=m+1

∫ bi

ai

zi f(zi|θ(s))dzi

= (n−m)µ(s) − σ(s)
n∑

i=m+1

φ( bi−µ(s)

σ(s) )− φ(ai−µ(s)

σ(s) )

Φ( bi−µ(s)

σ(s) )− Φ(ai−µ(s)

σ(s) )
,

S
(s)
2 =

n∑
i=m+1

∫ bi

ai

z2
i f(zi|θ(s))dzi

= (n−m)
{

(µ(s))2 + σ2(s)
}

− σ(s)
n∑

i=m+1

(µ(s) + bi)φ( bi−µ(s)

σ(s) )− (µ(s) + ai)φ(ai−µ(s)

σ(s) )

Φ( bi−µ(s)

σ(s) )− Φ(ai−µ(s)

σ(s) )
.


